
Desert Fiber Arts Mystery Shawl Knit-Along  

Clue 2 

 
With RS facing you and using the stitch on the right (the first stitch on the left-hand needle) cast on 12 additional 

stitches (use knitted cast on) – this is marked as a Row 0 on Chart 2.  

Now you knit Clue 2 with 13 stitches (12 newly created and 1 from the edge of the Clue 1) following Chart 2. You 

have knit back and forth and in the same time you connect the Second Clue with the First Clue.  

The first 8 rows are charted as well as explained to make this part more easily understandable.  

Row 1: yo, k2tog, k 10, knit 13th and 14th stitch (next two stitches) together through the back loop. Turn the work.  

Row 2 (WS): sl1pw, k12, turn the work. Always end WS row with k stitch.  

Row 3: as Row 1  

Row 4 (WS): as Row 2  

Row 5: yo, k2tog, k3, wrap next stitch (bring yarn in front of your work, slip next stitch from left to right, bring yarn 

to the back and slip stitch from right back to the left), turn the work.  

Row 6 (WS): k5, turn the work.  

Row 7: yo, k2tog, k3, un-wrap next stitch - slip wrapped stitch to the right needle, with left needle lift the wrapping 

yarn, slip stitch from right to left and knit it together with wrapping yarn; k6, SSK the 13th and 14th stitch together 

through the back loop. Turn the work.  

Row 8 (WS):sl1pw, p 11, k1.  

 

Follow the chart and with notes below.  

 Shaded Rows are repeated 3 more times (see the Row Numbers on left side).  

 can be a 3, 5 or 7 Nupp or a Bead just be consistent throughout Clue 2. 

 All even rows are purled, unless otherwise stated, except double YO-s, where first YO is purl stitch and 

the second YO knit stitch. Always end on a K stitch for this Clue. 

 In Rows 31, 41, 67, 77, 103, 113, 139, 149 when you do second K2tog or the fourth K  add the wrapping yarn 

so you have 2 or 3 strands on needle when you work those stitches .  

 When you reach to the last RS row and haven’t got any stitches from First Clue left – turn the work and Bind 

off the 12 stitches. Leave the last stitch on your needle! Do not break the yarn!  

 Now pick up all yo-s (there have to be 90), don’t miss the closest one, which you used for cast off. And you 
have the additional stitch which remained from the cast off –  

 After completing Chart 2 you have 91 stitches on your needle.  

 If you don’t have 91 stitches don’t freak out, the first 2 rows on the next clue will help you even out.  I 

picked up 149 stitches and was still able to make it work. You eventually need 176 stitches but that will 

be on Clue 3. 

 Now you have a good opportunity to take a picture!  

 

Symbol Description 
 Knit 
 Yarn Over 
 SSK 
 K2tog 
 Include wrapped yarn with stitch 
 3, 5, or 7 Nupp or Bead 
 SSK 2 stitches together in the back loop 
 Slip 1 purl wise with yarn in front 
 No Stitch Short Row 
 Wrap and Turn for Short Row 
 Cast on 
 Bind off 
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Chart 2 Rows 

                180 
                179 
                178 
                177 
                176 
                175 
                174 
                173 
                171 
                169 
                167 
                165 
                163 
                161 
                159 
                157 
                155 
                153 
                151 
             41 77 113 149 
             39 75 111 147 
             37 73 109 145 
             35 71 107 143 
             33 69 105 141 
             31 67 103 139 
             29 65 101 137 
             27 63 99 135 
             25 61 97 133 
             23 59 95 131 
             21 57 93 129 
             19 55 91 127 
             17 53 89 125 
             15 51 87 123 
             13 49 85 121 
             11 47 83 119 
             9 45 81 117 
             7 43 79 115 
             6    
             5    
             4    
             3    
             2    
             1    
             0    
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